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1. ooTo frdl eppTRy s fir /o Seaeo! s Sfereat -
1x6=6

Answer the following questions/Choose the
correct answer :

(@) wfRERS TRETel Jfeicet & @ 2

What do you mean by scarcity in
economics?

(b) ©FR CFCHl RS wREET oo 723 2

Microeconomics does not deal with
(i) AEEF siEw

aggregate demand
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(@)

(e)
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(2)

(i) B SLATH
national product
(i) SR 19 B9
general price level
(iv) €79 9IS T
None of the above
GG TACeMEN SPHee |

The consumer is in equilibrium when

MUx _Px

()
MUy Py
(ii) MU 8 i
MUy Py
(iii) MU
MUy Py

(iv) 8°RJ 9ole T2

None of the above

ST “fR[am 2
What is substitution effect?

AT T @R & T ST G I S0

Marginal cost curve intersects average
cost curve, when average cost curve is

(i) ST =

upward sloping
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(3)

(i) Tma =7
downward sloping

(iti) Y =7
minimum

(iv) ST{® =7

maximum

() =Te] HAwel O Yo qe HFE ST
&S TR 2

The relationship between profit and
uncertainty, according to the
uncertainty theory of profit, is

(i) ooT%
direct

(i) Re[rosSt
mverse

(it)) I
ZEro

(iv) S*[F9 9018 T

None of the above

2. woro MAIRRT R e fofbR eoig® 5y G fosn
(afScor Seo *FE o) : 4x3=12

Write short notes on any three of the
following (within 150 words each) :

(@) TRTO ¢ FARH
Scarcity and choice
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(b) A e

Price elasticity

(c) e T

Production function

(d) T BT, TS TRATA SAIF NI LA Fer
of

Relation among total product, average
product and marginal product

(e) TS o WF SFEIRS =TS

Normal profit and supernormal profit

T PP Ues o (&ifeT e oo MR feeTe) -

Answer the following questions (within S00 words
each) :

3. (@) IR T R wie ARR SeEn
sl il

Discuss the subject matter and scope of
microeconomics.

%<1/ Or

(b) TR @ RfeRrTe $2 [E @EmE &R
7 W RSTFOR 4FRENR Sige TR
IF o IR 9| 2+4+5=11
What is price elasticity of demand? How

can it be measured? Explain its types
with diagrams and suitable examples.
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4. (a)

(b)

S. (a)

(b)
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(S)

e @R ERErER [ &2 FRere @9
S (& TACEISIR @FAF SRS SAAIS

2’7 9Ieq, I F1 6+5=11

What are the properties of indifference
curve? Explain how a consumer attains
equilibrium with the help of indifference
curve.

241/ Or

WA @ AR 9 AR e AfeFEd
AR Rves om0 =, 9 TEE foad
SREAS PRIT 411

Explain how price effect of a commodity
is decomposed into income effect and
substitution effect with the help of a
suitable diagram.

AT TSI U3 ST RS 2ifee o
o AfRe IV @R IR TCE Sl
ol

Discuss the application of marginal
revenue and marginal cost curve in
determining the equilibrium of a firm.

241/ Or

frzas] e A TR PR Al |

Explain  the  profit maximization
conditions in input market.
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6. (a) 9L TS STFA S TLITNT 7T A
A (FCE P F9 =, M AR 10

Explain price and output determination

under monopoly firm in the short run
and long run.

Y241/ Or

(b) = dfeTIoNTs I e IW o
%Wmmcwmﬁwmwm,ﬁm
SRS RT <A1 |

Explain with the help of diagram how a
long-run supply curve is derived from a

decreasing cost industry under perfect
competition.

(e 20 9 030 T WA-TER T )
| ( Additional 20 marks for 2023 Batch )

7. 9 R @ v e Seq o

Answer any four questions from th
following : :

(@) TSI Tge 6 @I 7 Wm'

What do you mean by
surplus? Explain with th
diagram.
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(b)

(©

@)

(e)

(7))

TI9 W99 ARISE AR @A @ TR
2 AL 47 |

How does budget line shift as a result of
prices change? Discuss.

IR I Qe ? oag RES A0l
<90 i

What is iso-cost line? Discuss with the
help of diagram.

2FIEN I/ FAPTR S5F 41

Draw short-run cost curves.

A afScafrerE TeET EREPTR 1%1=n|

Write down the characteristicszi‘o pe
competition. g



